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QUESTION 1 (Answer)

(a)
i. Payback period

Machine CN Machine YP
Net cash flow Net cash flow
€ €
Initial Cost 200.000 Initial Cost 200.000
Net cash flow year 1 (80.000) Net cash flow year 1 (40.000)
2 (92.000) 2 (100.000)
28.000 60.000
3 110.000 3 118.000
2,25* years *28.000/110.000 Or
2 years and 3** months 2,51* years *60.000/118.000
Or 2 years and 6 months
**28.000/110.000x12
**60.000/118.000 x12
(Marks 4)

ii. Net Present Value

Machine CN Machine HP
Year | 10% | Net cash Present Value Net Cash Present Value

flow € € flow € €

0 | 1,000 (200.000) (200.000) (200.000) (200.000)

1 0,909 80.000 72.720 40.000 36.360

2 0,826 92.000 75.992 100.000 82.600

3 0,751 110.000 82.610 118.000 88.618

4 0,683 106.000 72.398 212.000 144.796
NPV 103.720 NPV 152.374

(Marks 7)




iii. Accounting rate of return

Méoa etowa peldoviikd kaBapa képdn (Annual Average Profits)

M¢ 68 ARR) =
com amodoan ( ) Apyiko kbotog emeévdvang (Initial cost of investment)

47.000%

CN: ARR= ——= X 100 = 23.5% *(30.000+42.000+60.000+56.000)/4
HP: ARR = %xwo = 33.75% ** (.10.000+50.000+68.000+162.000) /4
Working
Annual Machine CN Machine HP
Profits € €
(Net cash flow -Depn) (Net cash flow -Depn)
Year 1 80.000-50.000* = 30.000 40.000-50.000 = (10.000)
Year 2 92.000-50.000 = 42.000 100.000-50.000 = 50.000
Year 3 110.000-50.000 = 60.000 118.000-50.000 = 68.000
Year 4 106.000-50.000 = 56.000 212.000-50.000 = 162.000
*Annual Depn = 50.000 *Annual Depn = 50.000
200.000:4=50.000 200.000:4=50.000

(Marks 6)

(b) The managers should purchase machine HP because it gives the highest
Positive NPV and it gives the highest Rate of Return although Machine CN

has a shorter payback period

O1 diguBuvTég TTpéTTel va ayopdoouv 1o unxavnua HP gmeidn divel Tnv
uynAdTepn BTk Kabapr) rapouoa agia (NPV) kail €xel Tnv uywnAdTepn péon
amodoon (ARR) TTapoAo mou 1o pnxdavnua CN £xel ouvToudTEPN TTEPIODO
QATTOTTANPWHNAG.

(Marks 3)



QUESTION 2 (Answer)

PART (A)

Dreamers Designs
Manufacturing A/c for the year ended 31 December 2017

(Total Marks 20)

€ €
Raw Materials:
Opening inventory 46.000
Add Purchases 345.000
Add Carriage Inwards 48.000 393.000
439.000
Less Closing inventory 49.000
Cost of Raw Materials used 390.000
Direct Wages(190.000 +2.000)x5/6 160.000
Royalties 28.000
PRIME COST 578.000
Factory overhead
Light and heat (18.000x80%) 14.400
Fuel and Power 54.000
Factory Rent (36.000-3.000)x2/3 22.000
Factory Insurance(23.000+1.000) x 2/3 16.000
Indirect Wages(190.000 +2.000)x1/6 32.000
Factory manager’s Salaries 50.800
Depreciation on Plant & Machiner
(4%0.000— 140.000) x25% / 85.000 274.200
Work in Progress
Add work in progress at start 34.000
Less work in progress at end (32.000) 2.000
COST OF PRODUCTION 854.200
Manufacturing Profit 45.800
Cost of goods transfer to Income Statement 900.000
(Marks 10)



PART (B)
(a) FIFO (periodic): (60x€14) + (30x18) = €1.380

Workings
Opening inventory 80
Units purchased (90+30) = 120
Units sold (60+50) = (110)
Closing inventory 90 units (Marks 3)
(b) LIFO (periodic): (80x€10) + (10x€14) = €940 (Marks 2)
(c) AvCO Inventory Alc
Date Details Units Price per unit Balance
Jan 1 Balance 80 10,00 800
Jan 4 Purchases 90 14,00 1.260
170 12,12* 2.060
Jan 10 Cost of Sales (60) 12,12 (727)
110 12,12 1.333
Jan 20 Purchases 30 18,00 540
140 13,38** 1.873
Jan 26 Cost of Sales (50) 13,38 (669)
Jan 31 Closing Inventory 90 13,38 1.204
(Marks 5)
*2.060:170
**1.873:140

(Total Marks 20)



QUESTION 3 (Answer)

(a)
Shire Plc
Statement of Profit or Loss for the year ended 31 December 2017
€ €
Revenue 1.260.000
Cost of sales (W1) (677.000)
Gross profit 583.000
Administrative expenses (W2) 154.450
Distribution expenses  (W3) 266.400 (420.850)
Profit from operations 162.150
Finance cost (W4) (8.000)
Profit before taxation 154.150
Taxation (29.900)
Profit for the year 124.250
Workings
(W1) Cost of sales €
Opening inventory 200.000
Purchases (700.000-50.000) 650.000
Closing inventory (180.000-12.950+5.950%) (173.000)
* (6.400-450) 677.000
(W2) Administrative expenses
€
Salaries 200.000x20% 40.000
Auditors remuneration 28.000
Depn —office building (600.000-120.000)x10% 48.000
Irrecoverable debts 5.000
Rent & rates 56.000x3/5 33.600
Allowance for receivables (200.000 - 5.000)x3%-6.000 (150)
154.450




(W3) Distribution costs:

€
Salaries 200.000x80% 160.000
Rent & rates 56.000x2/5 22.400
Distribution expenses 58.000
Warehouse rent 26.000
266.400

(W4) Loan Notes interest
€100.000 x 8% = €8.000

€8.000 - €4.000 (paid) = €4.000 due

(Marks 15)
(b) Shire Plc
Statement of Changes in Equity for the year ended 31 December 2017
Ordinary ,
Share Sha_re Reta_lned Total
capital premium earnings
€ € € €
Balance at 1 January 2017 400.000 21.000 68.000 489.000
Shares issued 100.000 100.000 - 200.000
Profit for the year - - 124.250 124.250
Dividends paid (30.000) (30.000)
Balance at 31 December 2017 500.000 121.000 162.250 783.250
WORKINGS:
(W5) Rights issue- Journal entry € €
Dr Cash (200 000*x€1,00) 200.000
Cr Share capital (200 000x€0,5) 100.000
Cr Share premium (200 000x€0,5**) 100.000
*800 000X1/4=200 000 shares
**Share premium=Issue price — par value
Share premium=€1,00 - €0,5 = €0,50
(Marks 5)

(Total Marks 20)



QUESTION 4 (Answer)

PART A
Workings
Fixed Costs -per year Variable costs per unit
¢ | Direct labour €0,30
Rent 9.600 | Milk and fruits €0,15
Machinery Depreciation 1.750* | Salesmen commission €0,20
Other Fixed costs 10.500 | Total VC €0,65
Insurance 1.120 I .
Supervisor’s Sa|ary 15.000 Contribution per unit
Advertising _2.455 (€1,20 - €0,65) = €0,55
Total FC 40.425
*(14.500-500/8)
(a) Break Even Point = €40.425 = 73.500 units (Marks 9)
€0, 55
(b) Break Even Point=73.500 unitsx€1,2= €88.200 (Marks 1)
(c) Margin of safety = 135 100 — 73 500 =61 600 units (Marks 2)
(d) Profit for 2017 € —
Sales revenue = 135 100 x 1,20 = 162.120
Less VC =135 100 x 0,65 = (87.815)
Less FC = (40.425)
Profit = €33.880 all accepted
OR/ Sales (units) x contribution less Fixed costs
(units) x ibuti IX —
(135 100X €0,55) — 40.425 = €33.880

OR/ Margin of safety x contribution /unit=
61 600 units x €0,55/unit = €33.880 (Marks 3)




PART B

MeToyxég

OpoéAoya

1.0 pétoxog (shareholder) givar 1810KTATNG
Kal £xel dIKaiwpa Wyigou

(shareholders are owners and have voting
rights)

O kdaTox0¢6 opoAdywyv (debenture holder)
Oev gival HETOXOG aAAG daveloddTNG Kal
O¢ev £xel DIKaiwua Yreou

(Debenture holders are payables and do
not have voting rights)

2.To YETOXIKO KEQAAQIO DEV ETTIOTPEPETAI
(The shareholders do not have to be
repaid)

Ta opdAoya €xouv nuepounvia AAgNG Kai
TTPETTEl va aTTOTTANPpWOOoUV Katd TN ARgn
TOUG

(The debentures have be repaid on the
expiring date)

3. Mepiopata TTAnpwvovTal uévov av
UTTdpXOoUV KEPON META aTTd ATTOPACH TWV
d1eubuvTwy (TTapouacialovTal oTo
Statement of changes in Equity)
(Dividends are paid if there are profits
available and are stated in the Statement
of changes in Equity)

H eTaipeia gival uttoxpewpévn va
TTAnpwvel Tokoug (finance cost) ite
UTTAPXOUV KEPODN EiTE OXI

(Interest has to be paid -finance cost —
on its due date)

4.Katd tn didAuon TnG €TTIXEIPNONG €XOUV
OIKAiwMa OTA TTEPIOUCIAKA OTOIXEI TNG
ETAIPEIOG TTOU ATTOUEVOUV PETA TNV
ATTOTTANPWHA TWV TTIOTWTWV

(In the case of dissolution the
shareholders have the right to surplus
assets after the repayment of payables)

Kartda tn d1dAucon Tng ETTIXEIPNONG Ol
KATOXO0I OMOAGYWV £XOUV TTPOTEPAIOTNTA
oTN ATTOTTANPWWI TOUG AAAG Ogv £XouvV
TTEPAITEPW OIKAIWPA OTA TTEPIOUTIOKA
OTOIXEIA TNG ETAIPEIAG TTOU ATTOUEVOUV
META TNV ATTOTTANPWHNA TWV TTIOTWTWV
(In the case of dissolution the debenture
holders have priority for repayment but
they do not have any other rights to
surplus assets)

(Any two differences)

(Marks 5)

(Total Marks 20)




QUESTION 5 (Answer)

@) () PPE- Accumulated Depreciation Account
2017 €000 | 2017 €000
Dec 31 | Disposals 560 | Jan 01 | Balance b/d 4.520
Dec 31 | Balance c/d 4.440 | Dec 31 | SOPL 480
5.000 5.000
(Marks 4)
(@) (i) Statement of Cash Flow for year ended 31 December 2017
Cash Flows from operating activities
Profit before taxation 380.000
Add Depreciation 480.000
Less: Profit on Sale of Non-current Asset (15.000)
(2.115.000-560.000)-1.570.000
Add: Finance cost (14.000 + 27.000) 41.000
Operating cash flow before working capital changes 886.000
Add Decrease in inventories 62.000
Less Increase in trade receivables (130.000)
Less Decrease in trade payables (120.000)
Cash generated from operations 698.000
Less Interest Paid (14.000 + 27.000) (W1) (41.000)
Less Tax Paid (280.000+240.000-360.000) (W2) (160.000)
Net Cash from Operating Activities 497.000
Net Cash Flows used in investing activities (450.000)
Net Cash Flows from financing activities 273.000
Net increase in cash and equivalent 320.000
Cash and cash equivalents 1 January 2017 -120.000
Cash and cash equivalents 31 December 2017 200.000
Net increase in cash and equivalent 320.000
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Workings:
(1) Bank loan Interest (6%x600.000) x9/12=€27.000

(2) Corporation tax
€000 €000
Cash - paid 160 Balance b/d 240
Balance c/d 360 SOPL- charge for the year 280
520 520

(Marks 14)

(b) Items found in the Financing Activities section include:

e 'EkdOON YETOXIKOU KEQAAQIOU OTNV OVOUACTIKN TOUG agia A utrép TO APTIO
e 2Uvayn A atrotrAnpwur daveiwv

e ‘Exkdoon A ammommAnpwur odoAdywv

e H kaTtaBoAn uEPICUATWV.

e |Issue of shares at par or at a premium

e Taking out or repayment of a bank loan

e |Issue of debentures, or repayment of debentures
e Dividends paid

(Marks 2)
(Total Marks 20)

(GRAND TOTAL MARKS 100)
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